f parallel lines.

» Co-interior angles are two angles which add up to 1800. They lie in
same plane of transversal line.
Steps taken:
v’ Identify the two co-angles.
v' Form the equation correctly.
v' Solve the equation accurately.

Example 1: Find angle marked x.

x + 1000 = 180°(co-interior angle)
x + 1000 - 1000 = 180° - 10090
= 80°

N

/ d
Example 2: Find angle marked y. S
' a + 110° = 1800(co- interior]_s)

a+ 1100+ 1100=180°-1100
= 7Q0

b +140° =1800(co- interior s)
b +1400-1400= 180°-1400
= 400

y =atb
=700 + 4Q0°
=1100
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Activity.

1. Solve for the unknown.

a)

2x + 100
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d). \ 440
y
560
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